



名前: \_\_\_\_\_

日にち: \_\_\_\_\_ スコア: \_\_\_\_\_

$$6^2 + (-8) =$$

$$(-2)^0 - (-4) =$$

$$7^{(-1)} - 5 =$$

$$(-5)^{(-1)} - (-4) =$$

$$2^{(-2)} + (-9) =$$

$$(-1)^2 - (-2) =$$

$$3^{(-1)} + (-1) =$$

$$10^{(-1)} - (-5) =$$

$$6^{(-2)} - 8 =$$

$$(-2)^2 + 6 =$$

$$(-10)^2 + (-3) =$$

$$3^2 - (-10) =$$

$$5^2 + 1 =$$

$$6^2 + (-6) =$$

$$3^{(-2)} - 9 =$$

$$(-1)^2 + (-9) =$$

$$(-4)^2 + (-8) =$$

$$10^{(-1)} - 3 =$$

$$9^0 - (-1) =$$

$$4^2 + (-5) =$$



名前: \_\_\_\_\_

日にち: \_\_\_\_\_ スコア: \_\_\_\_\_

$$6^2 + (-8) = 28$$

$$(-2)^0 - (-4) = 5$$

$$7^{(-1)} - 5 = \left(-\frac{34}{7}\right) = \left(-4\frac{6}{7}\right)$$

$$(-5)^{(-1)} - (-4) = \frac{19}{5} = 3\frac{4}{5}$$

$$2^{(-2)} + (-9) = \left(-\frac{35}{4}\right) = \left(-8\frac{3}{4}\right)$$

$$(-1)^2 - (-2) = 3$$

$$3^{(-1)} + (-1) = \left(-\frac{2}{3}\right)$$

$$10^{(-1)} - (-5) = \frac{51}{10} = 5\frac{1}{10}$$

$$6^{(-2)} - 8 = \left(-\frac{287}{36}\right) = \left(-7\frac{35}{36}\right)$$

$$(-2)^2 + 6 = 10$$

$$(-10)^2 + (-3) = 97$$

$$3^2 - (-10) = 19$$

$$5^2 + 1 = 26$$

$$6^2 + (-6) = 30$$

$$3^{(-2)} - 9 = \left(-\frac{80}{9}\right) = \left(-8\frac{8}{9}\right)$$

$$(-1)^2 + (-9) = (-8)$$

$$(-4)^2 + (-8) = 8$$

$$10^{(-1)} - 3 = \left(-\frac{29}{10}\right) = \left(-2\frac{9}{10}\right)$$

$$9^0 - (-1) = 2$$

$$4^2 + (-5) = 11$$